Questions:
(a) Set up the polynomial such that y(x)=y,. (11%)
~ {b) Further, what are the values of aand b in y=ar+b toleast square
approximate the data listed in the table. (8%)

2. Asurface is defined by z=x? + y*. Calculate the surface area defined on the
domain 0<x? +y? <32 (20%)

3. The differentiation equation is givenas y"+3y+2y=¢'.
Questions: ‘ '
(a) What is the homogeneous solution? (5%)
(b} What is the particular solution? (5%)

(c) If the initial conditions are Y(0)=1 and 3'(0)=1, then what is the complete
solution? (8%)

4. Solve the system of equations
8x, —4x, +3x, =0
X, +5x, —x, =-5
=2x +6x, +x, =—4 . (20%)

BEFBEFEm

(FBUFAE EEmEEL)




925;@&@ i o ’/;3’%:54; Mo rk A A THRS g

Bt 3 P 48

¥
P}

o S

5. Suppose U/, (x, y)to be the solution of the partial differential equation
o'u  du
o

with the boundary conditions
u(x.0)=g(x), u(x,a)=0,u(0,y)=0,u(a,y)=0.

=0 , 0<x,y<a,

Questions:

(a) What is the solution U, (x,y) interms of U,(x,y) for these boundary
conditions :

u(x,0)=0, u(x,a)=g(x),u(0,»)=0 u(a,y)=07 (8%)

(b} What is the solution U,(x,y) interms of U{x,y) for these boundary

conditions
u(x,0)=0, u(x,a)=0,u(0,y)=g(y),u(a.y)=07(5%)

(c) What is the solution U, (x,y) in terms of U,(x,y) forthese boundary
conditions
u(x,0)=0, u(x,a)=0,2(0,y)=0,u(a,y)=g()? (5%)
(d) What is the solution U(x,y) in terms of U{x,y} for these boundary
conditions
u(x,0)=g(x), u(x,a)=3g(x),u(0,y)=2g(y).u(a,y) = 4g(y) ? (5%)



